
GSPublisherVersion 0.0.100.100

Montageanleitung Funktionsbett LEIPZIG

Mounting instructions Multifunction bed LEIPZIG

Mountinginstruction Funktionsbett LEIPZIG

Bed niet verschuiven,
men moet het bed opheffen
om te verplaatsen

Move not only raises
bed adjusted

Bett nicht verschieben,
nur angehoben verstellen.

Ne pas pousser le lit,
il faut le porter pour déplacer

Notwendiger Hinweis: Important information: Belangrijke informatie: Information importante:

1/7

4m
m

Date 22.02.2024

Instrucciones de montaje para la cama funcional LEIPZIG



GSPublisherVersion 0.0.100.100

Anleitungen fur die Montage Instructions for the assembly Instructies voor de montage Instructions de montage

D ACHTUNG bei einer Beanstandung !!
Um eine zügige Beanstandungsabwicklung zu
gewährleisten, bitte bei Beschlägen den
Buchstaben und die Menge angeben,
Beispiel: A M6x95
bei Möbelteilen die Zahl angeben
Beispiel: 1 1960x160x20

GB if  you have a COMPLAINT !!
in order to enable us to deal with any
complaints quickly, in the case � ttings
please state the letter and the quantity,
Example: A M6x95
For furniture items please state the number
Example: 1 1960x160x20

NL OPGELET bij een klacht !!
Om een vlotte klachtenafwering te
waarborgen, bij beslag de letters, het
codenumer, en het aai,
bvb: A M6x95
bij meubeldelenhet kengetal aangeven
bvb: 1 1960x160x20

F ATTENTION en cas de réclamation !!
Pour assurer un traitement rapide des
réclamation, veuillez indiquer, pour les
ferrures, la lettre, le n,
Exemple: A M6x95
Pour les parties de meubles indiquer le
nombre
Exemple: 1 1960x160x202/7

1
0

2
0

3
0

4
0

5
0

6
0

7
0

0
8
0

9
0

1
0
0

1
1
0

1
2
0

1
3
0

1
4
0

1
5
0

1
6
0

1
7
0

1
8
0

1
9
0

2
0
0

N o QTY. Dimensions / mm Box *

1.1 1 (60 ) 1/4

2/4

2/4

3/4

3/4

3/4

2/4

3/4

2/4

2/4

2/4

3/4

1/4

4/4**

4/4**

2 1

3 1 1994 x 160 x 18

1007 x 708x 25

М

2000 x 405 x 18

4.1 1

2 1

3 1

4 2

5 1

N o QTY

.

Dimensions / mm Box *

6 4

7 2

8 2 995 x 227 x 18

9 2 914 x 500 x 3.2

10 1 2000 x 80 x 8

11 12

12 13

898 x 170 x 16

900 x 67 x 15

900 x 67 x 15

1996 x 273 x 16

500 x 170 x 16

884 x 273 x 16

956 x 80 x 16

884 x 273 x 16

884 x 273 x 16

 * Welches Teil ist in welcher box / Which part is in which box / Répartition des pièces par boite

Stückliste / Bill of Materials / Detail visserie

 ** Zusätzlicher Satz optional / Additional set optional / Jeu supplémentaire en option

I

glue /x 1

J

x 6

K

x 2

B

O15 x 13 /x 7

C

O 8 x 30 /x 26

D

/x 14

E

x 2 aus.

O 4 x 40 /x 59

F

G

6x20 / x 12

H

O 4 x /x 28

A

x 7

O3.5 x 10

/x 

4

L

4/4**13 1 91 x 50 x 18

7 х 50

20

2

1.2

1.

13

111

8

9

8

9

6

6

7

6

6

7

4.

4.

4.

/x

2

P

O /x 83,5 x 16

12

3

4.1

4.2

4.4
4.

5

3

4.5

 N

/x 67 х 70

2/414 1 1995x 60 x 18

14

2/415 1 1995x 35 x 25

2/416 2 953 x 35 x 25

15

16

10

1.2 1 (60 ) 1/41007 x 708x 25

16

Date 22.02.2024



1

3/7

glue

Positioning and securing
of the bed side slats

F 21 st.

Put the back panel of the bed on ground
facing backside and make sure that
there is nothing bellow the panel 

1

Put the front panel of the bed on ground
facing frontside and make make sure that
there is nothing bellow the panel 

2

Make sure that front panel of the bed 
and back side panel of the bed are clean
from dust,dirt and oil. 

3

Make sure that all panels that you need 
to apply glue to are clean from dust,dirt
and oil and then apply glue on them. 

4

glue

Make sure that you apply the glue from 
right side and wait 5min. for glue to cure. 

5

5 Min.

Gently apply presure on the surface of the 
panels and secure them with screws.
IMPORTANT:
Full cure time of the glue is 12 hours!

Gently turn over all panels that you apply 
glue on and place them on right possition.

66

15

16

2

3

FUNKTIONSBETT LEIPZIG



GSPublisherVersion 0.0.100.100

8 st.

E 4 st.

3

2

4/7

B 3 st.

4 P

4.1
B

4.2

4.4

P

E

12st.G
12st.F

L 2 st.

K 2 st.

6 st.N

H 8 st.

M 4 st.

M

H

L

1.2

10

M

H

L

1.1

10 H

K

H

K

10

14

C

N

N

N

D

C 6 st.

1.1

1.2

2

C
glue

1.2

14

2

1.1

1.2

2

11

10

F

G

13

13
91 mm

91 mm

98 mm

ACHTUNG
Setzen Sie Abstand zu bekommen

IMPORTANT
Put to get distance

AANDACHT
Zet om afstand te krijgen

ATTENTION
Mettez pour obtenir la distance

 

E\CL P E\CRP

FUNKTIONSBETT LEIPZIG



GSPublisherVersion 0.0.100.100

4.1

3 st.A

5

5/7

7

H 12 st.

J 6 st.

4.3

4.2

4 st.6 D

3

J
H 4.3

4.2

4.1

N

D C
glue

C

C 4 st.

C

C

D

D

D

D
C

A

A

J

H

4.1

4.2

4.3

4.4

4.5

4.5

4.2

D

D

C

C

4.4

3

4.3

FUNKTIONSBETT LEIPZIG



GSPublisherVersion 0.0.100.100

6/7

10
C 8 st.

11

C 8 st.

A 4 st.

B 4 st.

13

6

6
7

C

x2

8

x2

9

A

C

5

D

9 26st.F st.

6 st.D8

13

91mm

91mm16mm

ACHTUNG
13 einsetzen um den Abstand 

zu erhalten

IMPORTANT
Put to get distance

AANDACHT
Zet om afstand te krijgen

ATTENTION
Mettez pour obtenir la distance

F

4 st.D

D

D

B

FUNKTIONSBETT LEIPZIG



GSPublisherVersion 0.0.100.100

E 4 st.

8 st.H

FUNKTIONSBETT LEIPZIG

7/7

ACHTUNG
Heben Sie zum Einfügen

IMPORTANT
Lift to insert

AANDACHT
Lift in te voegen

ATTENTION
Ascenseur pour insérer

12

13

HE

x2

14

DE  Achtung: Zu Ihrer Sicherheit ist die zulässige Höchstlast nicht zu überschreiten
EN  Caution! For your safety, do not exceed the maximum load
NL  Opgelet, voor uw veiligheid het maximum gewicht niet overschrijden
FR  Attention pour votre sécurité, ne pas dépasser les charges maxi
SK  Upozornenie: Z bezpečnostných dôvodov neprekračuite maximálne záťaže
CZ  Pozor, z bezpečnostních důvodů nepřekračujte maximální zátěž
HU  Az Ön biztonsága érdekében ne haladja meg a maximális terhelést
HR  Oprez! Radi vaše sigurnosti, ne prelazite maksimalno opterećenje

  MAX
 80 Kg
 176 lb


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

	Schaltfläche1: 


